
35

����� 2

��	�
��
������
�������

������	
����
� ������	�������
�	���	�����	��������������� ��!���"	�#$��%��
#��#���	��	�����	�#�$&��&����
����'������!
������
�$(& ���	���$%	�%�)$	 ��*
!��+	 �),�-	 
$&	%�,�.�/	���$%	�%�)$	 (12)(�) �������-��

(1) �����
�!��+	
(2) ���'	��#$��$(& ,����&	�
(3) ���
�	������
(4) �	����1�	��.)-� 2$

2.1 ���������
��

�����
�!��+	
�"	���  ��1���1$( �),�-	 $&	%�,�.�/	���$%	�%�)$	 (12)(�) 
7����-�!��+	�'��$�������* ,.12)(� �.%������ �.%�)$	 9���,�����2&��� 	*����� UTM �
� 660000 
,������� #$� 820000 ����� (������� 	*#$,,��2��
� 101o21A ,������� #$�$�����2��
� 7o22A
�����) 1���1$( �����
� (�� %&���
���C��������	�-��) ��� 	* 38 ,�.� . ("	������� 6) ,.12)(� 
��C��
�,���)��%�	����	��),�-	 $&	%�,�.�/	���$%	� #$� �(��	������	12)(� 9���,�����2&�
�  . 4 ,.12)(�
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�
� 	 : Emsong (2545)

"	�������  6  �����
�!��+	: �����* ,. 12)(� �.%������ �.%�)$	 9�����2&
������
��),�-	 $&	J

�),�-	 $&	%�,�.�/	���$%	�%�)$	
�
� 	 : ���%	��K�#��& �),�-	 $&	%�,�.�/	���$%	� �� �/	L -
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2.2 �����
�� �
 !"#$��%�"�&

)���,�������)���������	�������
�L�-#�&�	�%�	���1�	 1����M� (�2���)-� 2.3)  
9�����C���
��%&�������)���������	���M������ )-� 2$�������	L������� (���)-� 2$����N �
�
�$	�#�$&�) 
��	������	#������ ��#$�%���%�(��	�
�-1�#���	����� ��
��	������M�  

��	�%�	���1�	 1����M�����$&	�  
�	�$���
��)�����'	��#$��$(& ,����&	� ����
�

(1) 
 !"#$��%�"�&��
�"%&������
K2-�����L�-��	���)�	��$(& ,����&	�����&����
��� 7���	!��)-� 2$�	�%��,��	��O)��

����&����
���
������
��),�-	 $&	%�,�.�/	���$%	�%�)$	(12)(�)  9������&	7���P$
��#$-� 
��	���
��� 	*�O$� 130,000 1� �����	���
�-
'-)�	��$(& ,����&	�2����&����
�����	��� 200 �	�        
(1����C� 0.15% )����	�������&����
���"	�
���$	 1 �O) #$�� �����	 	���	�*	7��
'-��*S.)�� 
Yamanae (1967) �M��L�-1�	 1$	��1$�����	��	�%(& ,����&	���&	���  0.07  7����	�	�%�	���1�	 
1����M��$(& ,����&	�����&����
��� 
� 2 '&����$	 1��
�����&	����������	�� X ,($	1  �.!. 2546 
9�����C�'&�����Y�2�	$�&����
��� (Low season) #$� 
�����&	������  
�	1  X � +	��  �.!. 2547 
9�����C�'&��Y�2�	$�&����
��� (High season)

(2) 
 !"#$��%�"�&'()#�*"��+
)*"���*�� (Stakeholders)
K2-�����L�-��	����$(& ,����&	�K2- 
%&��L�-%&���%
� �����
'-��	���������� ,&	�N #$�

!��+	����������	� 
%&���&�  7��
'-�	�%� "	+*.�'��$�� #$��	����'( �$(& �&�� (Focus 
groups) 7����	#����C� 4 �$(&  ����
�

1) ������������	
���
� ��	���
�- 
)�	����'	��,����&	���	��� 80 �	� L�-
#�& K2-��	'( '� ��1.��#$���&���	�
������
� ��	�'� #$��$(& ,&	�N �'&� ���������	
��
�������
���
���
������������  �$(& ���+.12)(� ' � ������	��
����(��	������	12)(� ��C�,-� 7��
'-���
�	�

���'( �$(& �&����	��� 4 1����

                                                          
2 %('	,�  ���%���d��e%���(. (2546) 
�-1�	 ��M��&	)�	�,����&	��
��� 	�% )�����2&����$	��f���� �� ������,�(
���%�1.)���	������ 9����	������
�1�����
� �	�%�	���1�	 1����M���C���
���	��	)-� 2$%���%�(�  �
'&��,�(
���%�1.�$��)���	������  ����	����� �	��	�%�	���������,-����&	���'	����g	� 	� 
1�	 1$-	�1$����� 
(homogeneous) ��% 1��  
1�	 K��#��,��	  )�	����'	��,����&	����L &��	��C�,-��%2����
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2) �����	������������������
������������ ��	���
�- 
)�	����'	��
,����&	���	��� 10 �	� 7��
'-���
�	�%� "	+*.�'��$��

3) ������������ !���!�"#���$���
�%&�����''���(�) ��	���
�- 
)�	�
���'	��,����&	���	��� 10 �	� L�-#�& �$(& K2-�������	����+����	��
��� 4 �	� #$� �11(��!�.      
6 �	� 7��
'-���
�	�%� "	+*.�'��$��

4) ��������&%���*�������� ���
�%& ��	���
�- 
)�	����'	��,����&	�
��	��� 10 �	� L�-#�& !2��.�
h	#$������	�	��������%�)$	 3 �	� ��-	��-	�
�%�	����	���i�	�	�
�&����
��� 3 �	� #$� �	��&����
���#�&������!L��%�	����	�"	1
,-�), 1 ��	��� 4 �	� 7��
'-���

�	�%� "	+*.�'��$��

����	����� K2-�����L�-�&� %����,�	�*. 
��	����'( ��� % ���	�%&��%�� #$�
�	�����	�����	�#�$&��&����
���
������
�$(& ���	���$%	�%�)$	 "	�
,-71���	� �	������	#K�# &
���	���i�	$(& ���	���$%	�%�)$	 
�����
� 12 ���j	1  �.!. 2547 �������M�)-� 2$�-	��	�
��	���#���	��	���i�	�	��&����
���
������
�$(& ���	J #$�
������
���(���+. (
��	�����$&	� 
��-	
��-	�
�)���),�-	 $&	J  #$�'( '�
������
� ,. 12)(� �)-	�&� ������ �-��) �������	)-� 2$�
�L�- 	
�������	��%��#��#���	��	�����	�#�$&��&����
����'������!)���),�-	 $&	J

2.3 ��	�
�������

7���$���	� ���
�	�������-	��	����� ��!���"	� ��&	��-�����������-���	�
��	��� ����������	 #$� �
���

�����

	 ���� ��������
���

��	  )��#,&$�,��'
�����
��� 	�%   
����	��
� %�	����#,&$�,��'
���� �M�� 
�	���	���1&	 �����������	  #$� 
�	�
�-  ����

	  
7���	!����*S.�
��� 	�%   K$�	����� ���
�L�- ����� 	
��2�#��1�#���-��$� 9�����
'-��C�
��*S.
��	����
����
�������1(*"	�)��#�$&��&����
���

K2-���������	�	 
'-��1��1#$����
�	�,&	�N �������	��� ��������� #$� 
���

��
���

  
�-�2�,-��# &���	 $�1�	 ��C���,��� (Subjectivity)
�- 	��
�%(� �����
�-��C��
��� ���L�-
%�	�����	���	�����	�����N �'&� �	���� % ���&� �������&	�K2-����� #$������'	�	� #$�K2-�'
���
'	q�
���
���)-�� 
��	����1�	��. �����P�� #$���	��� ��������� #$� 
���

�����

  ,$�����	�
'-
)-� 2$#$��������	�����N  	%���%�(� �����'&��
�-�	���	��� ��������� #$� 
���

�����

   

1�	 �2�,-��#$��&	�'������ 	�����)��� �'&� ���
�	���$r	� (Delphi method) ��1��1�
�
'-
��	�
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���1�	��.����%���#��$-�  L�-#�& #��,����	��	�(Checklist) ���
# �����9. (Matrix) #$����

71��)&	�#%��1�	 %� ����.����&	������M��fq�	
�#,&$��-	� (Network) ��C�,-�


��	������1�����
� �	���	��� ,��'
���� #$� 
���

�����

 ����2&
�)���,���
�    
(1) - (2) 9����������-���������	�%�	1�q�
���
���)-�����  (�)  �	��	,��'
�����
��� 	�%   7��
'-
)-� 2$�	����%	��	������,&	�N #$�)-� 2$�	��	�%�	���"	1%�	   (�)  �	���	���,��'
����#$�1&	
���	����1�#�� 9�����	���7��K2-����� �����P���&� ��������'	�	� #$�K2-�'
���'	q #$�  (�)  �	�
��%��#������ ��
�#�$&��&����
���
������
�$(& ���	J �$	�#�$&� �&����	L�
'-


�"	���  %�	�����	������1�����
� K2-�����L�-��	����������	������ 7����	#��
��C� 5 )���,�� ����
�

(1) �	�%�	�������� )-� 2$�	����%	�#$�)-� 2$"	1%�	  9����� ���)-� 2$�	��	�
%�	���1�	 1����M�)���$(& ,����&	�����&����
��� #$��	����rf�1�	 1����M��	��$(& K2- 
%&��L�-
%&���%
�

(2) �	���	���,��'
���� #$���i�	#������ �� (Checklist) �����
'-
��	����� ��!���
"	�#$�1�	 �%
���)��#�$&��&����
���  ("	������� 7)

(3) �	�1�	��*1�#��
(4) �	����1�	��.!���"	�#$�1�	 �%
���)��#�$&��&����
���#$����1�	��.!���"	�#$�

1�	 �%
���)���$(& ,��'
����
(5) �	��%��#��#���	�
��	���i�	�	��&����
����'������!

9���#,&$�)���,��  
�	�$���
�� ����
�
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�
� 	 : ���#�$��	�#K�"2 �����	�$�	���)���,��)�����
��$r	� ('��$�)�,  %�-����'���+ , 2547)

"	������� 7 �������	�
��	������	#������ �� (Checklist) !���"	�#$�1�	 �%
���

���
:;&

<�
�#
<�


�=
>�?

%&
�!#

��
��
��
��
���
�	

�
���

���
��	

�
��
��	

�
��
��

�����#� ����<���=@?)%�*�%���� �

��
����"�&�������#��

(1)   $�������
 <��#=#��?%&$�������
 ��
��<"�<����?%&$�����

��
 (Score =��% Si) � �
��=�
<��#*��<�C?%&$�������


(Importance =��% Ii)

(2)   �
HI@J�
��
��=�
<!HK��

(3)   <"�����=��
<����?%&
 !"#$�������
� �*"&J=)'()��������C

���<���=@
�%�
����
������� ����%��L������&J�
��


��=�
$�������



��=�

 !"#'()��������C

��
����!#'()��������C

�$���#�
>������#?)%�*�%���

J��%�$"%+�

�������#������%J�)�
*%�J��������

��
����������#�� (Checklist) ��
�K��� �<��#�*���&

J�"

�����#?)%#( ��
�%
*��&�������� �?)%#( K�<*��#

�=>��%�J�


�����+�J�) ?

+#"J�"


��J�)���*�����<��#<�
�=>�


 !"#$��%�"�&��
�"%&������



41

?���$%���� 1 
��*����������#?)%#( ��
�%
*��� �?)%#( K�<*��#    

%�	�������� )-� 2$�	����%	�#$�)-� 2$"	1%�	  ��C��	���M������ )-� 2$
)����	�$���
����
������#�$&��&����
���#$�)-� 2$����N�
���
���)-�������
'-
��	����1�	��. �	,��'
����
�
��� 	�% �����
'-
��	����� �� 9���L�-#�&

(1) )-� 2$��
�����������	���	��	��&����
����	���� '	,� 
������
�!��+	�����
'-
��	�
���1�	��.1�	 ��C�L�L�-
��	�%&��%�� �	��&����
���

(2) )-� 2$��
������%�	�"	��	�����	������
�
��f��(��� �'&� �	���i�	%�����	���1�	 
%����,&	�N ,	 #�$&��&����
��� �	�����	��-	������	�	� �	�����	� ��C�,-�

(3) )-� 2$��
������%�	�"	��-	��	��&����
���#$��	�����	� 1�	 1����M���
������
#�$&��&����
��� ������ �
��)-	�&�  1�	 ��
�
��	��&����
���7���� #$�1�	 1����M�����N

(4) )-� 2$�	�#��%�	���1�	 1����M�)���$(& ,����&	�����&����
���
(5) )-� 2$�	��	����rf�1�	 1����M�)���$(& K2- 
%&��L�-%&���%
� (Stakeholders)
(6) )-� 2$����N �'&� )-� 2$�	�%�	����	��	��&����
���#�&������!L��%�	����	�"	1
,-

�), 1 !2��.�
h	#$������	�	��������%�)$	 % 	1 %&��%�� �	��&����
���
��-������ ��C�,-�

?���$%���� 2 
��
��=�
$�������
� ���O���������#������%J�)J�
������#����
�K�� � �

<��#�*���&?%&�= "&�"%&������    
�	�$���
�� ����
�

(1) 
�����
��J�
��
��=�
$�������
� ���O���������#��  
�	�$���
�� ����
�
1) ����� )-� 2$�
�L�-�	�

• �	�%�	���%"	������
�
• #��%�	���1�	 1����M�)���$(& ,����&	�����&����
���
• �	����rf�1�	 1����M�)���$(& K2- 
%&��L�-%&���%
� (Stakeholders)
• �����'	�	�
• ���%	��	�������
���
���)-������$���	����� ��!���"	�#$�1�	 �%
��� #$�

�	�����	������
���(���+. 7��K2-�������	 	��������(�,.
'-�&� ����������	���i�	#������ ��
L�-#�&
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- ��1��1�	����� ��������	�����	�
������
���(���+. (Hocking, 1997)
- �	���	���,��'
������	�	����� ��!���"	�)�������
�%�	�����	��&��

��
����'������! (�	��&����
���#�&������!L��, 2538)
- �	���i�	��1��1���
�	����� ��1(*1&	%���#��$-�  (1*�����	!	%,�.

�(h	$���*. �	����	$��, 2545)
- �	���	���1&	1�	 %�	1�q)��,��'
���� (1*�����	!	%,�. �(h	$���*.

 �	����	$��, 2545)
- ��*S.
��	���	��������1(*"	��-	�!���"	�#$�1�	 �%
���

(�	��&����
���#�&������!L��, 2545)
- �	���	���1&	���	����1�#��)��#,&$�,��'
���� (�	��&����
���#�&�

�����!L��, 2545)
- Weighting score method (Emphandhu and Chettamart, 1997)
- ���
�	�1�	��*#$�1��1&	1�#���	�,	�	�!���"	�#$�1�	 �%
���

(1*�����	!	%,�. �(h	$���*. �	����	$��, 2545)
2) ���1�	��.�����	�!��+	�����9���1���1$(  ��,�(���%�1. ��g	� 	��	�����������

��	���#���	�
��	���	���,��'
����
��	����� ��!���"	�#$�1�	 �%
���)��#�$&��&����
���
3) ��	����$(& K2-�'
���'	q �����
�-1�	#����	 9���

• ��C�K2- 
���%��	�*. #$� 
1�	 �2-1�	 %	 	��
• %	 	��
�-)-��%��#�� #$�����
�
����&�  ��
��	���	�����	�

�	���	�����	�
�1�����
�L�-���1�	 �&�  ����C���&	��
�	�K2-�'
���'	q#$������'	
�	��$	�%	)	3
��	�
�-1�	#����	 #$��%��#���	���i�	,��'
���������
'-
��	����� ����&	�,&�
������ L�-#�& �����'	�	��-	�����!����	 �-	��	����� ��1�	 �%
��� �-	��	����� ��K$�����%���
#��$-�  �-	��	�%&��%�� �	�����	�#$��	��&����
��� �-	�!�$���i���� #$�7��	*1�
 #$��-	�
�	� 
%&���&� )�����'	'�

                                                          
3 �$(& �����'	�	�#$�K2-�'
���'	q�
�
�-1�	#����	 L�-#�& K!.��.��	�$  
%��%��d �-	�����!����	 K!.��.�	��'	,�        
��%(���% 	�	�  �-	��	����� ��1�	 �%
���  �!.��.P�,�L'� ��,�L'�  �-	��	����� ��K$�����%���#��$-�     
�.�"�� �. ��� ����	 �-	��	�%&��%�� �	�����	�#$��	��&����
��� �.'���(i�  �����2$ �-	�!�$���i���� #$�
7��	*1�
 #$� K!.�	�
 ���%�7��Y+j. �-	��	� 
%&���&� )�����'	'�  #$�1(*��
'	 �|}�1�  ��-	��-	�
��� �/	
L - 5 
�-)-� 2$�-	������	��#$��	�����	������
��),�-	 $&	%�,�.�/	���$%	�%�)$	  (12)(�)
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4) ������'( 7���������-��K2-�'
���'	q �����'	�	� K2-�2-�-	�����N #$�K2- 
%&��L�-
%&���%
�����N �-	�

5) ����� )-�1����M� )-��%��#��
������M�,&	�N �����
• ��	���,��'
���� 1�	 � 	�)��,��'
���� �����1&	1�#��)��,��'
���� #$�

��	���1�	 %�	1�q)��,��'
���� 
��2�#��)���&	�#������ �� (Checklist draft)
• ��	�����*S.�����1(*"	�)��!���"	�#$�1�	 �%
���
• ���$�	���1�	 %�	1�q1�	 %�	1�q)���$(& ,��'
����#$���	#,&$��$(&  	

��	���1&	���	����1�#��
6) �����	�&	�#������ �� #$���*S.
�)-� 5) �����%&�
�- 
������������� !"��#$����

"�
%�
� ���&���'�
��(%������
 )
������"
��������"
*
�%+,
���
��-&,�!
7) ��%��#������ �� (Checklist) #$���*S.�
���	���)���
8) �����	#��������
�-	�!���"	�#$�1�	 �%
���

�	��������	�
�)-� 1) X 8) ��L�-�&	�#������ ��!���"	�#$�1�	 �%
��� 9���
�������-��

- ,��'
����
- �����1&	1�#��)��,��'
����1�	 � 	�)��,��'
����
- 1�	 %�	1�q)��,��'
����
- ��*S.�����1(*"	�)��!���"	�#$�1�	 �%
���
- 1&	���	����1�#��)��,��'
����  
�	�$���
�����
�)-� (2) )-	�$&	��
�

(2) $�������
� �<��=#��?%&$�������

1) 
��=�
?%��?$/�����&
�������H�J=)<���� �����
'-��C����%	�������

�	�
�-1�#��,��'
�����-	�!���"	�#$�1�	 �%
���  ("	1K��� 1 - 2)
2) 
��=�
<��#=#��� ���
��<"�<����?%&<"�Q"�&����=��
 ( Score =��% Si) 9���

�����#���	��	����� ��1(*1&	%���#��$-� ��� '	,� )��1*�����	!	%,�. �(h	$���*.
 �	����	$�� (2545)  �
�L�-�����	��C�,���$)#%����2&
�#������ ��  7����	���
�- 
�����  1, 2, 3, 
4 #$� 5 7��,��'
����#,&$�,���� 
�	�����	�1�	 � 	�)��1&	1�#��L�-��&	�'����� (�2"	1K���
3 - 4)
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3) 
��
��=�
<"�<��#*��<�C?%&$�������
 (Importance =��% Ii)  ��L &��	���L�-
,	�,�� �����
����	���,(K$#$�)-���	����
��&	 #�$&���� '	,�#,&$�#�$&�# -����C�#�$&���� '	,�
����"���
������M�� 
$��+*�������1.������)���	���C�#�$&���� '	,��
�,&	���� ����L &
�� �������(�����	� �'&� �����	����� '	,� �	�
'-���7�'�. #$��	�����	�%���#��$-�  
��C�,-� �����-	��C�#�$&���� '	,�,&	�����"���� �'&� #�$&���� '	,�����"�'	��	� ���#�$&�
��� '	,�����"�9	������	����. �	� 
�	���	���1&	1�	 %�	1�q)���(�,��'
����
�- 
1&	��&	��� ��
��	
�-�	���	�������� 	,�e	�1(*"	�  
1�	 1$	��1$����L��	�1�	 ��C�����L�-

��&	�L��M,	  �	���	���1&	1�	 %�	1�q)��,��'
�����
� 
1�	 9��9-������L��	�
��	
�-����1�	 �	�$�	�	�%�	����K2-���� �� #$� 
K$����	���	�������� 	,�e	�1(*"	�)��
#�$&���� '	,�L�- �-����,(K$����$&	� �$���	�����e	�
��	���	���1&	1�	 %�	1�q)��,��'
����
%�	�����	�!��+	�
�%&���������
'-1�	 1��)�����'	'�
��-�������
��������������1�	 %�	1�q
)��#,&$�,��'
���� ����
�

• 1&	1�	 %�	1�q)��,��'
���� #�&���C� 3 ����� 1��
3 � 	���� ,��'
�������� 
1�	 %�	1�q 	�
2 � 	���� ,��'
�������� 
1�	 %�	1�q�	��$	�
1 � 	���� ,��'
�������� 
1�	 %�	1�q�-��

• ,��'
����$��+*�,���������"�)��#�$&���� '	,� �'&� ,��'
�����
���
���)-��
���9	������	����. � ���
'-���� �� 	,�e	�1(*"	�#�$&���� '	,�����"������	����. ,-�� 
1&	
1�	 %�	1�q)��,��'
���� 	� #,&�-	,��'
�����
���
������9	������	����. � ���
'-���� ��#�$&���� '	,�
����"�'	��	���������N �M����	
�-1&	1�	 %�	1�q)��,��'
�����
� 
�-�� ��C�,-�

• ,��'
����
��M,	  �
�L &��	�����L & 

�#�$&��&����
��� ����	���1&	1�	 
%�	1�q)��,��'
������C� N0 (L &��	�) #$���L &��	,��'
��������L�1��1�	��*

• �����
�-����1�	 �2�,-��#$��'������L�-%2�%(� ������

���������������%�
��������� �!%����.��/�$� !.�#������� !���������� ���������01�
�(%&��"2.�%��
���.�%�".�#$�

�(% �����+�
�������
����!%� �.�#,�!�
�+�
'
%$���"3�$�3%
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4) $�������

)����
�K�� ��	���
�- 
,��'
��������� � 25 ,��'
���� #$���	#����C� 6 
�$(&  ����
�


 !"#��� 1 : *��&
�&
(
J���
�"%&������  �������-�� 3 ,��'
����   L�-#�&
[1] �	���� '	,�

�	������
�1�����
�
�-1�	 %�	1�q���,��'
�����	���� '	,���C�%�	1�q �����	���
�- 
,��'
�����	���� '	,� �������-��  5  ��1.�������&�� ��������7�'�.
��	�����	�!���"	��-	�
%�������2��	���� '	,�)��#�$&��&����
���
�- 
1�	 '����� 	�����)��� ����
�

1] �	�����M�%�,�.�/	/��
2] 1�	 ��C�#�$&��� %�,�.�	�	�/��#$�
�$-%2q����(.
3] 1�	 ��C�#�$&��� ��'�	�	�#$�
�$-%2q����(.
4] 1�	 �(� % �2�*.)��%��1 ��'
5] 1�	 �(� % �2�*.)��%�,�.�/	/��,	 ��� '	,�

[2] 1�	 ��C������,�!	%,�.�	�!�$��#$���i���� 
[3] %"	�"2 ���!�.


 !"#��� 2 : <!H<"�� �<��#*��<�C?%&�= "&�"%&������  �������-�� 4 ,��'
���� L�-#�&
[1] �	���� '	,�#$��	���������!
[2] 1�	 ��C����$��+*.)����������!
[3] 1�	 ��C����$��+*.�	������,�!	%,�.7��	*1�

[4] 1�	 ��C����$��+*./��,$��+*.�	�!�$���i���� �����*
 #$����
'
��,)��'( '�

�-������


 !"#��� 3 : 
�����=����

��   �������-�� 8 ,��'
���� L�-#�&
[1] �	����1��
'-�j� 	�
[2] �(1$	��#$������ 	*
[3] �	�1�	������)
�1�	 %	 	��
��	�������)��#�$&��&����
��� �-	��	���i�	         

%�����	���1�	 %����
[4] �	�1�	������)
�1�	 %	 	��
��	�������)��#�$&��&����
��� �-	���	�������&��

��
��� #$������� �	��&����
���
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[5] 1�	 %	 	��
��	�����	�)�� 2$|��/��'��'���	
[6] 1�	 %	 	��
��	���	������	�%
�
[7] �	���	��� 	,��	�
��	��|g	�����#$�$�K$�����
[8] �	�%&��%�� 
�-�����	�����	��	�L�-
�-���'( '�


 !"#��� 4 : 
��*"&�*��#J=)��L��= "&�"%&���������&�����  �������-��  5 ,��'
���� L�-#�&
[1] �����	�%���1�	 � 	�#$������� �	��&����
����'������!
[2] 1�	 �����
�)������&����
���,&�����%���1�	 � 	� #$������� �	��&����
���
[3] ��&���	�#$�'( '�
������
� 
1�	 �2-1�	 �)-	
��-	��	��&����
����'������!
[4] ��&���	�#$�'( '�
������
� 
�	���	�����	�/%&��%�� �	��&����
����'������!
[5] 1�	 %��1$-������&	��	��&����
���
��f��(���#$�/�����
�����i�	
���	1,


 !"#��� 5 : 
��#�*"���"�#?%&�!#��� �%&<@
�%���U  �������-�� 4 ,��'
���� L�-#�&
[1] �	���(���+.�����	����� '	,�#$�%���#��$-� 
[2] �	�%�-	��$L�1�	 �&�  ��#$��1���)&	��	��&����
���
�������-������
[3] �	�%�-	�1�	 �&�  �������&���	� #$���1.��,&	� N
[4] �	����'	%� ����.�	��&����
���


 !"#��� 6 : 
���?)�Q�&�= "&�"%&������� �<��#� %
K��  �������-��  2  ,��'
���� L�-#�&
[1] 1�	 �	��&	�
��	��)-	���#�$&��&����
���
[2] 1�	 �$��"��

5) $�������

)��<��#�*���&  ��	���
�- 
,��'
��������� � 15 ,��'
���� #$���	#����C� 
3 �$(&  ����
�


 !"#��� 1 : ' 
�������%���
�
?���$"%���������� �*��&��
 )%#  �������-��  10  ,��'
���� L�-#�&
[1] K$������
��	�����)���,&�%�,�.�/	/��
[2] K$������
��	�����)���,&���'���*
[3] K$������
��	�����)���,&���������!
[4] �	�,����)��
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[5] K$������	��fq�	)�� 2$|��/��'��'���	
[6] K$������	��fq�	���	�%
�
[7] K$������	��fq�	�%
�������
[8] K$�����,&�1(*"	�"2 ���!�.
[9] )
�1�	 %	 	��
��	�������)��#�$&��&����
��� �-	�%�����	���1�	 %����
[10] )
�1�	 %	 	��
��	�������)��#�$&��&����
��� �-	���	�������&����
���#$����

��� �	��&����
���


 !"#��� 2 : <��#�������&?%&�= "&�"%&������   �������-��  2  ,��'
����
[1] �	���� '	,�
[2] �	�!�$���i���� 


 !"#��� 3 : ' 
����$"%�!#���)%&Q���  �������-��  3 ,��'
���� L�-#�&
[1] K$�����,&���i���� #$������*
�-������
[2] K$�����,&����
'
��,������� 
[3] K$�����,&�1(*"	�'
��,

(3) 
��
��=�
 ��
��<��#*��<�C?%&<"�����=��
<����?%&
 !"#$�������
 �	�K$)���	�
���1�	��.#$����� ��%�	��	�*.)��#�$&��&����
���
������
�$(& ���	���$%	�%�)$	 ��	
�-�$M���M�
����fq�	 �(�%��1 #$�7��	%
��	���i�	
��-	�,&	�N 7��%��-����� 	��C�,��'
���� �������
�	���	�$(& ,��'
�����-	�!���"	�#$�1�	 �%
��� 	���$�	���1�	 %�	1�q#$���	���1&	���	����
1�#�� (,	�	� 1 #$� 2)  ����C��1����� ��������,-������
�-��&���	��
����K��'��
������
�%	 	��
��	���$�	���1�	 %�	1�q���������1�	 ��&��&��)��#K��	� ����71���	�������	���i�	�	�
�&����
���
�#�$&��&����
�������N L�-

�	������
�1�����
�  
��,�(���%�1.%�	1�q�
����%��#���	��	��&����
�����
����'��
����! 9�����C��2�#���
�1�	�������	���(���+.�����	����C�%�	1�q ������� 
��	���	���1&	���	����
1�#��)���$(& ,��'
���� K2-�����#$������'	�	��
��&� ��� % ��  
 ,���M��-������
���
�-1�	 
%�	1�q#�&,��'
�����-	�1(*$��+*�,	 ��� '	,�)��#�$&��&����
���  
���	����1�#�� 	���&	�-	�
����N �'&� 
��	����	�*	,��'
�����-	�!���"	� L�-��	���
�- ���	����1�#���!�
��#��4�� �
��.�%�
".�#$� (25 %) #$��!�
�'1�����������������%��
���.�%�".�#$� (20 %)  	���&	 �!�
��������
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�����%��'��
���%��5��%(#
6 (15 %) #$��!�
���"�!��4��
���.�%�".�#$��������&�%�2�$ (5 %) 
��C�,-� ���� ,��'
�����-	�1�	 �%
���  
�	���	���
�- ���	����1�#�� �!�
�����.+.�#%�)"����4�

��%��++
�"�7�����#�����!%� (55 %)  	���&	 �!�
�����.+��%�'��
.!%���#
 (20 %)

,	�	�  1  $�	���1�	 %�	1�q)��1&	���	����1�#��)���$(& ,��'
�����-	�!���"	�


 !"#$�������
 <"�����=��
<����  (%)

(1) %�������2�����&����
��� 25

(2) 1(*1&	#$�1�	 %�	1�q)��#�$&��&����
��� 20
(3) �	�����	�����	� 20
(4) �	�%&��%�� 
�-��C�#�$&��&����
����'������! 15
(5) �	� 
%&���&� )��'( '�#$���1.������N 15
(6) �	��)-	���#�$&��&����
���#$�1�	 �$��"�� 5

,	�	�  2  $�	���1�	 %�	1�q)��1&	���	����1�#��)���$(& ,��'
�����-	�1�	 �%
���


 !"#$�������
 <"�����=��
<���� (%)

(1) K$������
��	�����)���,&���������!#$�%���#��
$-� 

55

(2) 1�	 ���	��	�)��#�$&��&����
��� 25
(3) K$�����,&�'( '��-������ 20

(4) �
HI@
��=�
��
��<!HK��?%&��
�K�� (PSLB)  � �<��#�*���& (RSLB)   ��C���*S.
�
�
'-
��	����	�*	K$)���	����� ��#�$&��&����
�������N (,	�	� 3 #$� 4  )

,	�	�  3  ��*S.��	��������1(*"	��-	�!���"	� (PSLB)

<"�<���� (%) ��
��<!HK��
)����
�K�� (PSLB)

>60% !���"	�%2� (High  Potential: Hp)
40-59% !���"	��	��$	� (Medium  Potential: Mp)
<40% !���"	�,��	 (Low  Potential: Lp)
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,	�	�  4  ��*S.��	��������1(*"	��-	�1�	 �%
��� (RSLB)

<"�<���� (%) ��
��<!HK��
)��<��#�*���& (RSLB)

>60% 1�	 �%
���)��K$�����%2� (High  Risk: Hr)
40-59% 1�	 �%
���)��K$������	��$	� (Medium Risk: Mr)
<40% 1�	 �%
���)��K$�����,��	 (Low  Risk: Lr)

(5) 
������#����
��<!HK��?%&�= "&�"%&������   ��C��	����� ���&	#�$&��&����
���
#,&$�#�$&� 
�����!���"	�#$�1�	 �%
��� ��2&
������
� 7���	����	�*	!���"	�)��#�$&��&��
��
��� ��,-�����	�*	�������� ���&� ���1�	 �%
���
�#�$&��&����
�������N 9����	����� �����
�$&	� ��L &%	 	��'
���C�,���$)�
�'����� #,&��%	 	����	�����C��$(& 1�#��!���"	� #$�1�	 
�%
��� �	�!��+	
�1�����
� L�-��	��������!���"	�#$�1�	 �%
�����C� 3 ����� 1�� %2�         �	�
�$	� #$�,��	  9�����%	 	������$(& L�- 9  �$(&  �'&� !���"	�%2�-1�	 �%
���%2� !���"	�%2�-1�	 
�%
����	��$	� !���"	�%2�-1�	 �%
���,��	 !���"	��	��$	�-1�	 �%
���%2� !���"	��	��$	�-
1�	 �%
����	��$	� ��C�,-� 
��
��
�������	�1�	 � 	�!���"	�#$�1�	 �%
���
��	��$(&  
�	�
$���
�� ����
�

1) 
 !"#��
�K��*(&� �<��#�*���&*(& ��C�#�$&���� '	,��
� 
1�	 %�	1�q�
�1��
��(���+. 	� #,&�M 
1�	 �%
���
��	��2���	$	� 	��'&���� 9���#�$&���� '	,�� �����	�	����� ��
#$-���2&
��$(& �
� ��&���	��
����K��'�������	�%&���$	�#$��-��������	��C��
���,-�� 
�	���	����
�	���(���+.r}��r2 ��&	���&��&�� #$�����	�����	�7����&���	��-������������&���	�%&���$	�
��&	� 
���� �����L &
�-�����	���	$	�#�$&���� '	,����� �����	���� '	,�#$� �(+�. 
�)*���
��
����M,-�����	�*	�	 	,��	�
��	��g������	���	$	�
�$��+*�,&	�N �-��

2) 
 !"#��
�K��*(&� �<��#�*���&$��� ��C�#�$&���� '	,��
� 
1�	 %�	1�q 	� #,&
1�	 �%
���
��	��2���	$	��-�� 9���#�$&���� '	,���$&	�
�%&��
�q&�����1� 
1�	 ��C���� '	,�
��2& 	�#$��
�%�	1�q�	����&	�L�$�	��	���i�	 9���#�$&���� '	,��
���,-�� 
�	�,���%��
�-#�&
'���
�1����7����&���	��-������#$���&���	�%&���$	��
� 
���%��	�*.�&	1����&�
�- 
�	�)���
����
����C�#�$&���� '	,���(���+.�&������L & #$-����1&���,�
� �	�
��	�����	�����	�,&�L�
��&	���C�����
���	1,���
�$-

3) 
 !"#��
�K��$���� �<��#�*���&$��� ��C�#�$&���� '	,��
� 
1�	 %�	1�q�-��#$� 

1�	 �%
���
��	��2���	$	��-�� #�$&���� '	,���$&	�
�����&	 
1�	 %�	1�q�
�����(���+.�-�� ��&��
�	��
����K��'���	����$&��
�-��C�$��+*���� '	,�,	 ��� �&��



50

4) 
 !"#��
�K��$���� �<��#�*���&*(& ��C�#�$&���� '	,��
� 
1�	 %�	1�q�-��#,& 

1�	 �%
���
��	��2���	$	� 	� 9���
�%&���
���&���	����K��'���	����$&��
�-��C�L�,	 ��� 
'	,� ����
�-��&���	��
��2#$��C�K2-���K��'��,&�L� #,&%����
���,-�����	�*	 1�� $��+*�1�	 �%
���
�
�������)��� 9����	���,-��
�-��&���	����K��'�����	�*	�g����� ���	�����	�����	
�-#�$&�
��� '	,������2���	$	�#$-� �	��� 
K$�����,&������
�
�$-�1
��

(6) 
����
 ��
��<��#*��<�C?%&�= "&�"%&������ �	�K$1&	1�#���-	�!���"	�)��
#�$&��&����
��� ����	 	���	�*	���$�	���1�	 %�	1�q)��#�$&��&����
��� 7�����	�*	K$��	#��
��C�#�$&��&����
����$�� #�$&��&����
������#$�#�$&��&����
�������������
� ���,	�	� 5

,	�	� 5  $�	���1�	 %�	1�q)��#�$&��&����
���

<"�<���� (%)  ��
��<��#*��<�C

>60% #�$&��&����
����$��
40-59% #�$&��&����
������
<40% #�$&��&����
�������������
�

?���$%���� 3 ��	�
��<����H<����

���
�	�1�	��*!���"	�#$�1�	 �%
���K2-�����L�-����$���	� Weighting score 
method (Emphandhu and Chettamart, 1997) #$���1��1���
�	����� ��1(*1&	%���#��$-� ��� 
'	,� (1*�����	!	%,�. �(h	$���*. �	����	$��, 2545) 9����	��������	���	�����	� K2-�����L�-
��	���%2,������
'-
��	�1�	��*�-	�!���"	� #$�1�	 �%
��� %�	�����	������
�1�����
� ����
�
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i = 1

nj

Wgj  = Σ  SiIi    x wj  /  Σ [Max(SiIi)]
nj

i = 1

j = 1

6

PSLB    =   Σ  Wgj

���������	
�����
���

(1) 
��<����H<����
 !"#$�������

)����
�K�� 7��1�	��*�	�%2,�

� ��� Wgj = 1&	���	����1�#��)���$(& ,��'
�����-	�!���"	��$(& �
� j
(j = 1, 2, ... m 
��
��
� m = 6)

Si = 1&	1�#�� (Score) )��!���"	�)��,��#���
� i
(
��
��
� i = 1, 2, 3, 4, 5)

Ii = 1&	1�	 %�	1�q (Importance) )��,��#���
� i
(
��
��
� i = 1, 2, 3)

nj =   ��	���,��'
����
��$(& �
� j
wj = 1&	���	����1�#��)���$(& ,��'
�����$(& �
� j

(j=1, 2, ... m 
��
��
� m = 6)
Max (SiIi) = 1&	1�#��%2�%(��
�����C�L�L�-

(
��
��
� 1�� 5x3=15)
� 	���,(: i = 1,2, � nj 7����	 	1��1�	��*�P�	�,��'
����
�#,&$��$(& �
�%	 	������ ��L�-

�
� 	 : ��%	  1���� (2547)

(2) 
��<����H��
�K��?%&�= "&�"%&������ 7��1�	��*�	�%2,�

� ��� PSLB = !���"	�)���	�����	�#�$&��&����
����'������!)��
#�$&��&����
���
������
�$(& ���	���$%	�%�)$	

�
� 	 : ��%	  1���� (2547)
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i = 1

nj

Wgj  = Σ  SiIi    x wj  /  Σ [Max(SiIi)]
nj

i = 1

j = 1

3

RSLB   =    Σ  Wgj

���������	
����������
�

(1) 
��<����H<����
 !"#$�������

)��<��#�*���& 7��1�	��*�	�%2,�

� ��� Wgj = 1&	���	����1�#��)���$(& ,��'
�����-	�1�	 �%
����$(& �
� j
(j = 1, 2,... m 
��
��
� m = 3)

Si = 1&	1�#�� (Score) )��1�	 �%
���)��,��#���
� i
(
��
��
� i = 1, 2, 3, 4, 5)

Ii = 1&	1�	 %�	1�q (Importance) )��,��#���
� i
(
��
��
� i = 1, 2, 3)

nj =  ��	���,��'
����
��$(& �
� j
wj = 1&	���	����1�#��)���$(& ,��'
�����$(& �
� j

(j=1, 2, ... m 
��
��
� m = 3)
Max (SiIi) = 1&	1�#��%2�%(��
�����C�L�L�-

(
��
��
� 1�� 5x3=15)
� 	���,(: i = 1,2, � nj 7����	 	1��1�	��*�P�	�,��'
����
�#,&$��$(& �
�%	 	������ ��L�-

�
� 	 : ��%	  1���� (2547)

(2) 
��<����H<��#�*���&?%&�= "&�"%&������ 7��1�	��*�	�%2,�

� ��� RSLB = 1�	 �%
���)��#�$&��&����
����'������!
������
�$(& ���	
���$%	�%�)$	

�
� 	 : ��%	  1���� (2547)
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%  (,�
�-#�$&��&����
����
� 
,��'
�����-	�!���"	�  
����� �  10  ,��'
����  
,��'
�����
�L &%	 	������ ��
L�- (N0) 3 ,��  �������,��'
�����
�����	 	1�	��*1�����
� 
����� � (N) 7 ,�� #$� 
1�	 %�	1�q)���(�,��'
���� (Ii)  

1&	��&	��� 3 #$�1&	1�#��,��'
���� (Si) �(�,��'
���� 
1&	��&	��� 5
���	�P�����1&	1�#��%2�%(��
���C�L�L�- ����&	���

7 x (5x3 ) = 105 1�#��  1����C� 100 % )��1�#���,M 
�-	�	����� ��#�$&��&����
���L�-1�#���� )��,��'
�����-	�!���"	�  
1&	��&	��� 55 1�#��

�������1&	1�#�� (%) = (55 x 100)/ 105   =   52.38 %
��	1&	1�#��(%) �
�L�-���
����
�������*S.�����1(*"	��-	�!���"	� 
�,	�	� 3 #$� 5 �������#�$&�

�&����
����
��� 
�����!���"	��	��$	�#$������2&
��$(& #�$&��&����
����$��

J�*"��?%&
������#��<��#�*���&?%&�= "&�"%&��������#���	�
����"��
���
��$��%�"�&
������#��
)����
�K��

 Σ [Max(SiIi)]
nj

i = 1

�����'��'����+��+�*�
���,�-�-*�� ��������&�
�&�*

1&	1�#��%2�%(��
���C�L�L�-)��,��'
����  
1&	��&	���                           �	L�-7���	�

'-1&	1�#�� (Si) %2�%(� �
���C�L�L�- (
��
��
� 1�� 5) 12*�-��1&	1�	 %�	1�q)��,��'
���� (Ii) %2�%(��
�
��C�L�L�- (
��
��
�1�� 3) #$-�12*�-����	���,��'
��������� ��
�L�-��	�	����� �� (N �
�L &��  N0) ��	
K$�� )��1�#��%2�%(� 	��
����C� 100 ����.�9M�,. (%) %�	������	�����C���*S.1�#���,M  
������
������
����
�����1�#���
�L�-�	��	����� ������

��& %�����������"�(��%.�	������� ���
�%&

?���$%���� 4 
�����<���=@��
�K��� �<��#�*���&?%&�= "&�"%&������ � ����<���=@��
�K��� �

<��#�*���&?%&
 !"#$�������


?���$%���� 5 
���*�%��������&J�
����

���= "&�"%&���������&�����
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2.4 
�����<���=@?)%#( 

(1) ���1�	��.)-� 2$�	�#��%�	���1�	 1����M�)���$(& ,����&	�����&����
�����	 	
��� �$K$#$����1�	��. #%���-���	�#��#��1�	 �
� 1&	�-��$� 1&	�P$
���$)1*�,

(2) ���1�	��.)-� 2$
��'��1(*"	� �	��	��	����rf�1�	 1����M�)���$(& K2- 
%&��L�-
%&���%
� (Stakeholders) L�-#�& �$(& '( '�
������
� ,. 12)(� �$(& �����	�#$���-	��-	�
��),�-	 $&	J
�$(& K2-�������	� ���+����	��
��� #$� �11(��!�. �$(& ��&���	��-	��	��&����
��� #$������'	�	� 
7����	)-� 2$�
�L�-  	%�(�K$�����
'-��C�#�$&�)-� 2$%���%�(�,��'
����
��	����� ��!���"	�#$�
1�	 �%
���

(3) ���1�	��.)-� 2$�	�#������ ��!���"	�#$�1�	 �%
��� 7��
'-�$���	����
 
Weighting score method #$���1��1���
�	����� ��1(*1&	%���#��$-�  �
�L�- 
�	�������(�#$�
����(�,.
'-7��K2-����� #$�1�	��*1�#��!���"	�#$�1�	 �%
���7��
'-%2,��	�1�	��*�
���	���
)��� �����#%�������)��!���"	�#$�1�	 �%
��� #$������1�#��,��'
���� ������%��#��#���	�
�	���i�	�	��&����
���)���),�-	 $&	%�,�.�/	���$%	�%�)$	 (12)(�)


